Simplifying Radicals

To simplify a radical, factor the expression under the radical sign to its prime factors. For every pair of like
factors, bring out one of the factors. Multiply whatever is outside the sign, then multiply whatever is inside the
sign. Remember that for each pair, you “bring out” only one of the numbers.

V4 =2 because 2 is a factor used twice (2x2=4) /9 = 3 because 3 is a factor used twice 3x3=9)
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Simplify completely:
1. 9= 2. 32 3. 450 4. /80 5.472
6. 120 7. 68 8. 200 9. 180 10. V33
1. 312 12. 548 13. 24/76 14. 332 15. 5480
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Hw: Radicals

SOL A1.3

Name Date

Simplify each radical expression. Show all work for credit.

1) Vi6 2) V75 3) V18x6
a) 20y° 5) /28x3y* 6) V30
7 8) V128x¢ 9) Va2b3c7

10) Explain why 5v?2 Is In simplest form.




